Bilanciare le seguenti reazioni

KMnO, + H,C,0, + H,SO, > CO, + K,SO, + MnSO, + H,0

Cr’* + Bi0* - Bi** + Cr,0,*

chr207 + HCl — KC1 + C12 + CrC13 + Hzo

C,0,” + HNO, — CO, + NO

H,SO, + Al — AL(SO,); + SO, + H,0

Cr,0,” + Fe** — Cr’* + Fe**

CdS + HNO; — Cd(NO3), + S + NO + H,0

MnO, + H,SO; — SO,* + Mn**

NaBr + H,SO, + MnO, — Br, + MnSO, + Na,SO, + H,0

SO;* + MnO, — SO,” + MnO,

FeSO4 + KMnO4 + HzSO4 - KzSO4 + MHSO4 + Fez(SO4)3 + H20

Fe’* + Cl0; — CI + Fe™*

K,MnO, + CO, + H,0 — KMnO, + MnO, + KHCO,

AsO; +1, > T + AsO,”

NaBr + NaBrO3 + HzSO4 - N32S04 + Br2 + H20

Cr,0,” + ClI' - Cl, + Cr™*

Cr(OH); + NaClO + NaOH — NaCl + Na,CrO, + H,0

Mn0427 - Mn047 + Mn02

Iz + NaZCI‘207 + HzSO4 - Crz(SO4)3 + NaIO3 + Nast4 + Hzo

I, + Cl, — CI' + 105"

Cr(NO3), + CuSO, — Cu + Cr(NO3); + Cry(SO,);

Mn”* + NO; — NO + Mn**

F612 + HNO3 — NO + FC(NO3)3 + HIO3 + Hzo

Sn + NO; — NO + SnO,

As, + KCIO; + KOH — K;AsO, + KCI + H,0

HNO, + MnO, — Mn** + NO;

chr207 + HCl + Feclz - FeC13 + CrCl3 + KCI + Hzo

Mn** + ClO;” — MnO, + CI

Cr(OH); + NalO + NaOH — Nal + Na,CrO, + H,0

H3P02 + Cr20727 - H3PO4 + Cr3+

Cay(PO,), + SiO, + C — P4 + CaSiO; + CO

S — ¥ 45,0,

NaCl + NaClO; + H,S0, — Na,SO, + Cl, + H,0

1037 +I — 12

KMnO4 + H202 + HzSO4 - 02 + MnSO4 + KzSO4 + Hzo

MnO, + H,0, — O, + Mn"™*

NaClO + NaCrO, + NaOH — NaCl + Na,CrO, + H,0

Cr,0," +H,S — Cr'* + S

chr207 + Nal + HzSO4 - Crz(SO4)3 + 12 + Nast4 + KzSO4 + Hzo

S,0,” + ClO" — CI + S,04>

NaMnO, + CaC,0, + H,SO, — Na,SO, + CaSO, + MnSO, + CO, + H,0

BiO; + Cr'* — Bi*" + Cr,0,*

A5203 + LanO4 + HzSO4 + Hzo s H3ASO4 + MnSO4 + leSO4

C,0,” + HNO, — CO, + NO

MnCl, + F, + NaOH — Na,MnO, + NaClO, + NaF + H,0

Cl, — CI' + CIOy

KOH + KIO; + (PH,),S — K,SO, + P + KI + H,O

Br + BrO; — Br,

SOCL, + KNO; + H;P0, — NO + HCIO; + K,SO, + K;PO, + H,0

Mn047 + H202 - 02 + Mn++
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